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Calculus Practice: Continuous Functions la

Find the intervals on which each function is continuous.

h 1=- x2X+_x2—6

A) (-, —1], (-1, »)
B) (-0, )

C) (—OO, _2)3 (_27 1)> (1’
D) (_OO’ _3)a (_3’ 2)? (25

X2
3) f(x)=—7 —2x+1
A) (-, )

B) (=o0,-3),(=3,3), G,
C) (-, ), (7, o)
D) (_OO’ _l)a (_1’ 2)? (25

5) f (X) = sin

X—T
A) (_OO’ _TC): (_TE, OO)
B) (—o0, o)
C) (-, ), (m, o)
D) (-, -3m), (-3m, ©)

1
X—T7
A) (=0, 1), (7, )
B) (-, 2n), (27, )
C) (=, 0), (0, )
D) (-0, )

7) f (X) = Ccos

9) f (X) = sin

X+ 7
A) (_OO’ _TC): (_TE, OO)
B) (-, )
C) (-, -2m), (27, o)
D) (-, -3m), (-31, ©)
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o)

o)

)

2X—=T7, X<0
2) f(x)= —X+2,X>0

A) (_OO: _3)9 (_37 1)9 (1:
B) (=0, 0], (0, )

C) (=00, )

D) (=0, -3), (=3, 2), (2,

X+4
4) f(x)=
) f(x) R

A) (~o, o)
B) (-, 0), (0, )
C) (-, 2), (2, )
D) (~0,-1), (-1,2), (2,

6 f(x):{—2x+9,x<2

3, X=>2
A) (—OO, _1)9 (_15 0)9 (Oa
B) (—o0, )

C) (—OO, _2)a (_25 0)’ (07
D) (-, 2), [2, ©)

2X+ 3, X#-3
¥ f(x):{z X=-3
A) (—OO, TC), (TC, OO)
B) (=, 3], (3, »)
C) (-, =3), (-3, ©)
D) (o0, )

X
10) f(x):—X2_3X

A) (-, -2m), (-21, o)
B) (-, —1), (-1, )

C) (=, 0), (0, 3), (3, )
D) (~oo, o)
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2X+1, x<'1
11) f(x)= X 5oy
2

A) (—oo, 1), [1, )

B) (-, ), (7, ©)

C) (=, -2), (-2, 0), (0, o)
D) (-, )

13) f(x)=-2x%+16x—29
A) (~, o)
B) (-, —2), (-2, 2), (2, )
C) (—, =3), (-3, )
D) (—o0, =3), (=3, 2), (2, )

15) f(x) = cosl
X

A) (-, 0), (0, ©)

B) (-, -37), (-31, )
C) (—o0, )

D) (-, 1), (7, o)

17) f(x)=—x*+x>+3
A) (—o0, )
B) (-, -2), (-2, 3), (3, ©)
C) (=, 3), (3, )
D) (o0, 31), (31, )

2X—3,Xx<-2
19) f(x)= I

A) (-, 3), (3, o)

B) (-, -2], (-2, )

C) (=, 1), (1, 3), (3, »)
D) (—oo, )

right s reserve

12) f(x):sinl
X

A) (-, -2m), (-21, o)
B) (-, 0), (0, )

C) (-0, )

D) (_OO: 3%), (3759 Oo)

14) f(x)= {_5’ x=2
X2 42x=2,Xx>2

A) (-0, )

B) (—OO, _ﬂ:): (_ch OO)
C) (_007 2]5 (27 OO)
D) (—OO, 1]7 (17 OO)

16) f(x)=x>—4x*+4
A) (=, o)
B) (_OO’ _TE): (_TE, OO)
C) (=00, =3), (=3, 1), (1, o)
D) (—o, 0), (0, 3), (3, ®)

18) f(x)=x*-3x>+5x-5
A) (-, -3), (-3, ©)
B) (=0, ), (T, )
C) (-, -2),(-2,-1), (-1, »)
D) (—o0, )

20) f(x)=—x*+3x*-3x-3
A) (-, 3], (3, ©)
B) (~o0, )
C) (-0, —1), (-1, )
D) (-, 1), (1, ©)
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Calculus Practice: Continuous Functions la

Find the intervals on which each function is continuous.

h 1=- x2X+_x2—6
A) (-, —1], (-1, »)
B) (-0, )
C) (—OO, _2)3 (_27 1)> (1’
*D) (_OO’ _3)a (_3’ 2)? (25

X2
3) f(x)=—7—2x+1
*A) (-0, o)

B) (=o0,-3),(=3,3), G,
C) (-, ), (7, o)
D) (_OO’ _l)a (_1’ 2)? (25

5) f(x)=sin "
—T
A) (_OO’ _TC): (_TE, OO)
B) (-, )

*C) (—oo, TC), (TE, oo)
D) (-, -3m), (-3m, ©)

1
X—T7
*A) (=0, m), (T, )
B) (-, 2n), (27, ©)
C) (-, 0), (0, )
D) (—o0, )

7) f (X) = Ccos

9) f (X) = sin

X+ 7
*A) (_OO’ _TC): (_TE, OO)
B) (—o0, o)
C) (-, -2m), (27, o)
D) (-, -3m), (-31, ©)

Software LL C. A

o)

o)

o)

2X—=T7, X<0
2) f(x)= —X+2,X>0

A) (_OO: _3)9 (_37 1)9 (1:
*B) (=0, 0], (0, )

C) (=00, )

D) (=0, -3), (=3, 2), (2,

X+4
4) f(x)=
) f(x) R

A) (~o, o)
B) (-, 0), (0, )
C) (-, 2), (2, )

D) (~o0, 1), (-1, 2), (2,

6 f(x):{—2x+9,x<2

3, X=>2
A) (—OO, _1)9 (_15 0)9 (Oa
B) (—o0, )

C) (—OO, _2)a (_25 0)’ (07
*D) (—OO, 2)’ [2’ OO)

2X+ 3, X#-3
9 1= 2
A) (—OO, TC), (TC, OO)
B) (-, 3], (3, »)
>l<C) (—OO, _3)a (_35 OO)
D) (~cc, o)

X
10) f(x):—X2_3X

A) (—OO, _27-[)’ (_275’ OO)
B) (-, —1), (-1, ©)

*C) (=, 0), (0, 3), (3, )
D) (~oo, o)
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2X+1, x<'1
11) f(x)= X 5oy
2

*A) (oo, 1), [1, )
B) (-, ), (7, ©)
C) (=, -2), (-2, 0), (0, o)
D) (-, )

13) f(x)=-2x%+16x—29
*A) (—o0, o0)
B) (-, —2), (-2, 2), (2, )
C) (—, =3), (-3, )
D) (—o0, =3), (=3, 2), (2, )

15) f(x) = cosl
X

*A) (-0, 0), (0, )

B) (-, -37), (-31, )
C) (—o0, )

D) (-, 1), (7, o)

17) f(x)=—x*+x>+3

*A) (-0, )
B) (-, -2), (-2, 3), (3, ©)
C) (=, 3), (3, )
D) (o0, 31), (31, )

2X—3,Xx<-2
19) f(x)= I

A) (-, 3), (3, o)

*B) (=00, =2], (-2, )
C) (=, 1), (1, 3), (3, »)
D) (—oo, )

rig h S res erve

12) f(x):sinl
X

A) (-, -2m), (-21, o)
*B) (—, 0), (0, )

C) (-0, )

D) (_OO: 3%), (3759 Oo)

14) f(x)= {_5’ x=2
X2 42x=2,Xx>2

A) (-0, )

B) (—OO, _ﬂ:): (_ch OO)
>l<(:) (_007 2]5 (27 OO)

D) (—OO, 1]7 (17 OO)

16) f(x)=x>—4x*+4

*A) (o0, o0)
B) (_OO’ _TE): (_TE, OO)
C) (=00, =3), (=3, 1), (1, o)
D) (—o, 0), (0, 3), (3, ®)

18) f(x)=x*-3x>+5x-5

A) (-, -3), (-3, ©)

B) (=0, ), (T, )

C) (-, -2),(-2,-1), (-1, »)
*D) (—o0, o)

20) f(x)=—x*+3x*-3x-3
A) (-, 3], (3, ©)

“B) (=00, o0)
C) (-0, —1), (-1, )
D) (-, 1), (1, ©)



